MERCRUISER (222 (4 BEL.] GM 305%-8 1922-1934]
Serial Mbr Range: 6218462 THRU OB525381 ()

¥ STARTER MOTOR AND ALTERMATOR

Ref |Clazs|Part

Description

=

Comment

| A

Footnote

2 10 34435|SCREW, STARTER MOTOR (4-211 USE WITH 12-3/4" FL'"WHEEL
2 10 34544|SCREW, STARTER MOTOR (1-15/1 USE WITH 12-3/4" FL''WHEEL
3 35363|BRACE. STARTER MOTOR 1 USEWITH 12-3/4" FL'"WHEEL
4 12 29245 \/ASHER, STARTER MOTOR STIN LSE WITH 12-3/4" FL'v'wHEEL
5 1 F2008|WUT, STARTER MOTOR STUD 1 USE WITH 12-3/4" FL''WHEEL
B 10 35765|SCREW, BRACE TO ENGIME [5/8)1 USE WITH 12-3/4" FL'"WHEEL
1 50 121774 2|STARTER MOTOR ASSEMBLY |1 USEWITH 14" FLv"wWHEEL
2 10 94435|SCREW, STARTER MOTOR [4-21)2 USEWITH 14" FL'v"WwWHEEL
3 12404 |BRACE, STARTER MOTOR 1 USE WITH 14" FLyswHEEL
4 12 29245|'WASHER, STARTER MOTOR 5T1)2 USE WITH 14" FLv"wWHEEL
5 1 72008 WUT, STARTER MOTOR STUD |2 USE WITH 14" FLv"WWHEEL
£ 10 35765|SCREW, BRACE TO ENGIME [5/8)1 USEWITH 14" FLv"wWHEEL
i 13 26935|LOCKMWASHER, STARTER TERM| 2
g8 i 26413 |NUT, STARTER TERMIMNAL [#3) |2
3 924374 3| ALTERNATOR (55 AMP] 1
10 13 26936 | LOCKMW/ASHER, ALTERMATOR TI1
1A 12 96457 |WASHER, ALTERNATOR TERMIH 1
12 1A 30968|MUT. ALTERNATOR TERMINAL [|1
13 13 21272 |LOCKwASHER. ALTERMATOR TI1
14 1 20830{WUT, ALTERMNATOR TERMIMAL [|1
15 85013|BRACE, ALTERNATOR ADJUSTIM1
16 10 27165|SCREW, ALTERMATOR ERACE |1
17 13 35045| LOCKMWASHER, ALTERMATOR BIj1
18 12 20553 \WASHER, ALTERNATOR BRACE 1
15 10 74824| SCREW, ALTERMATOR BERACE |1
20 12 26168 WASHER, ALTERNATOR BRACE |1
21 23 52035|SPACER, ALTERMATOR BRACE {1
22 5730511 | TUBING, ALTERMATOR LEADS |2
23 371154 1|BRACKET, ALTERMATOR 1 W/POWER STEERING
24 10 37612|SCREW, ALTERMWATOR BERACKE'| 2 W /POWER STEERING
24 10 34354| SCREW, ALTERMATOR BRACKE |1 W /POWER STEERING
28 13 35045| LOCKMW/ASHER, ALTERNAOTR BI| 3 W /POWER STEERING
26 93 75T |BRACKET, ALTERMATOR 1 /0 POWER STEERING
27 10 37612|SCREW. ALTERMATOR ERACKE |3 w0 POWER STEERING
28 13 35045 | LOCKMWASHER, ALTERMNATOR BI| 3 'w'/0 POWER STEERING
23 10 453308 SCREW, ALTERMATOR [3-3/4" |1
30 12 20553 WASHER, ALTERNATOR BRACEK, | 2
K]l 23 3386 |BUSHING, ALTERMATOR BRACK 1
32 i 2361 [NUT.ALTERNATOR BRACKET Si1
3

QCOE

IRICII ATOD DOOT CTADTOD T

s




